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SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Al 180,000
01 AlEHI 600,000 0 600,000
OZOHe! SCMSHE AMUIIZ &XI
600,000,000 600,000
| 420,000
Al 180,000
LOSXIANE 22 17,072,8%4 15,017,902 2,054,992
= 2,695,518
= 2,665,439
Al 11,711,937
ANE2FXA 823,325 806,625 16,700
= 242,348
Al 580,977
201 Let23| 2,000 2,000
01 ArR22eltl 2,000 2,000
OAld 29 XNI& 2,000,000& 2,000
307 QI2Ho1 M 821,325 804,625 16,700
& 242,348
Al 578,977
10 Al S XA EEHE2IHIE X 807,825 789,625 18,200
OLIEXNAIE SARL =& K&
806,000,000& 806,000
= 241,800
Al 564,200
OLZ Al ORI2Z2X A= K&
1,825,000 1,825
& 548
Al 1,277
11 Al =SXAMEES 13,500 15,000 21,500
OFINIQAI|2 SA (S SHOtE &AL
X 13,500,000& 13,500
ANIBRLE A2 (HEAIY) 867,714 568,826 298,888
301 LetENEZ 867,714 568,826 293,888
10 A ESRRRJ_ELZ 867,714 568,826 298,888
OMBI=R B4=(2-1EH)
798,000,000& 798,000
OAM=ERA WSHI(2-12HH)
52,920,000& 52,920
OAISI =223 TI=HI(2-1SH3])
16,794,000 16,794
AZ AL 2EH| KA (HEAID) 891,014 705,311 185,703
& 703,901
Al 187,113
307 212+01™ 891,014 705,311 185,703




2A:

L
3 ;‘&'%II SA(M2I=X/ el - 2 HE)
&t LoISIAE 29 (CH9: &S1)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 703,901
Al 187,113
10 Al SXAEEHE2EHI2x 891,014 705,311 185,703
ORI LZ AL (YY) 2LHI(2-1&H)
891,014,000& 891,014
= 703,901
Al 187,113
LZAE 2 KR (XEA) 9,000 10,000 21,000
307 @I2to| & 9,000 10,000 1,000
11 ARRIS XA E X 9,000 10,000 21,000
ORI AL (SY) LI L 32
= XN 9,000,000& 9,000
oo ESTAIE 28 X 4,107,160 3,660,590 446,570
= 698,217
Al 3,408,943
301 EtE N = 4,107,160 3,660,590 446,570
= 698,217
Al 3,408,943
02 A EEHS(FIANE, XLTHE) 4,107,160 3,660,590 446,570
LA QYEHRES (L AAZ=XIAl
&) 4,107,160,000& 4,107,160
== 698,217
Al 3,408,943
Mot eISXAIE 2 X 6,372,549 6,317,689 54,860
= 637,255
Al 5,735,294
301 EtE N = 5,910,549 5,855,689 54,860
= 591,055
Al 5,319,4%4
02 ANRI2HASFS(HAAS, XNLHE) 5,910,549 5,855,689 54,860
LA QY LHEES(MIH - I=XIAl
&) 5,910,549,000& 5,910,549
== 591,055
Al 5,319,4%
307 glztol & 462,000 462,000 0
= 46,200
Al 415,800
10 Al SXAAIEEHE 22X 462,000 462,000 0
OMIH- X &M A 462,000,000& 462,000
= 46,200
Al 415,800
COIESSAHIA K 3,829,260 2,858,861 970,399
[ 2,680,482
= 344,633




A=
33 =
L
4

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 804,145
307 gl2tol & 3,829,260 2,858,861 970,399
[ 2,680,482
= 344,633
Al 804,145
1 ABIZXIALEE 3,829,260 2,858,861 970,3%9
OLoIABESEAHHIA 22 T2
3,829,260,000& 3,829,260
[ 2,680,482
= 344,633
Al 804,145
COIHESSAHIA SAHL WS - S4Hl X 142,800 90,000 52,800
S 28,560
Al 114,240
307 @120l & 142,800 90,000 52,800
== 28,560
Al 114,240
11 AMRISXAEEES 142,800 90,000 52,800
COIRBESEMHIA EAX DE - Sl
A& 142,800,000 142,800
= 28,560
Al 114,240
1|2 BN 4Xl XA 30,072 0 30,072
[ 15,036
== 10,525
Al 4,511
402 QI”FX+=201 & 30,072 0 30,072
= 15,036
& 10,525
Al 4,511
02 QI TH2AILEE (01X THE) 30,072 0 30,072
OFIIII|2 IIAME EX K&
1,432,000 +21CH 30,072
= 15,036
== 10,525
Al 4,511
=X ST(MSSX/HAHSKIR) 23,977,245 21,711,962 2,265,283
= 12,876,936
= 2,539,666
Al 8,560,643
gojelsxsa 23,977,245 21,711,962 2,265,283
= 12,876,936
[ 2,539,666
Al 8,560,643




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
o= 4,344,123 4,081,082 263,041
= 3,040,886
== 390,971
Al 912,266

301 2eEN= 4,344,123 4,081,082 263,041
= 3,040,886
=S 390,971
Al 912,266

01 Al EEHS(FRDEXMH) 4,344,123 4,081,082 263,041
oAz X 4,344,123,000& 4,344,123
= 3,040,886
= 390,971
Al 912,266

=2k =g 651,296 651,296 0
= 455,907
= 136,772
Al 58,617

301 EtE2 NS 651,296 651,296 0
= 455,907
= 136,772
Al 58,617

01 Al EE A ZS(2REXMR) 651,296 651,296 0
oZ+=< 651,296,000& 651,296
= 455,907
< 136,772
Al 58,617

=2 X Hoi=E(&H]) 36,966 39,760 N2,794
= 11,090
Al 25,876

301 EtE N = 36,966 39,760 N2, 794
=S 11,090
Al 25,876

02 ANRI2HHSHS(HAAS, NLHE) 36,966 39,760 N2, TH
OFO==E(&HI) 36,966,000 36,966
< 11,090
Al 25,876

MHEAAHE o= 307,311 307,311 0
= 215,118
== 64,535
Al 27,658

301 2eEN= 307,311 307,311 0
= 215,118
=S 64,535




SN OIFORQI D
M HOHRISK SE(ASISX/HLHEXH)
Rl ZoHI=XSH (St &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
Al 27,658
01 AISIBE X 2GS (2 UETME) 307,311 307,311 0
OBO4L (XS S) X
307,311,000& 307,311
= 215,118
& 64,535
Al 27,658
SOl ol ZH| XI& 129,979 178,085 A48,106
= 103,983
& 18,197
Al 7,79
308 AXIHMSOIH 129,979 178,085 A48,106
= 103,983
& 18,197
Al 7,79
13 BI |2 SUICHEH B & XL EFALH] 129,979 178,085 A48,106
OO0 2o=zH| XA 129,979,000& 129,979
= 103,983
= 18,197
Al 7,79
HASHEOR! REH| L HAHH XA 3,000 2,000 1,000
= 1,500
Al 1,500
301 LPENZ 3,000 2,000 1,000
= 1,500
Al 1,500
01 AISIBE X 2GS (2 LEXTME) 3,000 2,000 1,000
OOl SSE&HHl XA 3,000,000& 3,000
= 1,500
Al 1,500
SHOHRIZ2 D101 XI& 5,975 6,4% AB21
= 4,780
Al 1,19
301 LPBNZ 5,975 6,4% AB21
= 4,780
Al 1,195
01 AISIBEH 2GS (2 REXTME) 5,975 6,4% Ab21
OFOIEEII| XIS 5,975,000& 5,975
= 4,780
Al 1,19
HOHCIE DD & HO|LH|XIJAY 3,826 5,458 21,632
= 1,530
Al 2,296




A R==t P10 ReTi
X

3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 3,826 5,458 A1,632
= 1,530
Al 2,296
02 ARSI 2 XSG (FHAAHS, NLWE) 3,826 5,458 A1,632
OFAZ0I & HeLHI XA
3,826,000 3,826
=S 1,530
Al 2,296
AEHO F4H S XA 20,000 31,100 A11,100
< 10,000
Al 10,000
301 EtE NS 20,000 31,100 A11,100
= 10,000
Al 10,000
02 ALRI2EH G (FHAAHS, NSWE) 20,000 31,100 211,100
OAFHN S4H| S X
20,000,000 20,000
= 10,000
Al 10,000
ol esiE =0 K& 8,025,810 7,251,509 774,301
= 5,618,067
= 722,323
Al 1,685,420
308 AtXIEMSOIE 8,025,810 7,251,509 774,301
= 5,618,067
= 722,323
Al 1,685,420
18 SIS0t HAS A 8,025,810 7,251,509 774,301
oI sIE =0 X
8,025,810,000& 8,025,810
= 5,618,067
= 722,323
Al 1,685,420
SSEX RS0 96,939 55,218 4,721
= 67,857
= 8,725
Al 20,357
308 AXIHSOIA 96,939 55,218 4,721
= 67,857
< 8,725
Al 20,357
18 SIS0t 4 A A A 96,939 55,218 4,721
Og=X& It 8¢ 96,939,000 96,939
= 67,857




SA I OoNer 1t
RN TN ENIEESTE SV ED
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 8,725
Al 20,357
0 =01 =5 K& 266,643 288,960 N22,317
= 79,993
Al 186,650
307 gl2to| & 266,643 288,960 N22,317
=S 79,993
Al 186,650
11 MEISXAEE 266,643 288,960 N22,317
ool =0I=8 XI&
266,643,000 266,643
< 79,993
Al 186,650
LETHEMEIA HIRH X 648,000 463,200 184,800
= 453,600
[ 97,200
Al 97,200
308 XtXIEMSO0IE 648,000 463,200 184,800
= 453,600
== 97,200
Al 97,200
13 SI[2S0He 4 A AS A 648,000 463,200 184,800
OZZMHEMHIAAL 648,000,000 648,000
= 453,600
= 97,200
Al 97,200
LEHQ FHESAHHIA XIS 989,782 643,475 346,307
= 692,848
= 148,467
Al 148,467
308 XM SOIE 989,782 643,475 346,307
= 692,848
= 148,467
Al 148,467
18 SIS0t HAS A 989,782 643,475 346,307
OB FAHEMHIA TR
989,782,000 989,782
= 692,848
= 148,467
Al 148,467
LEYML L h=2SAHEA K 293,028 126,573 166,455
= 205,120
= 43,954




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
&2 HofeI=sAsSd (SH &)
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 43,954
308 AtXIEHMSOIE 293,028 126,573 166,455
= 205,120
= 43,954
Al 43,954
18 S 2SS & AEAIE 293,028 126,573 166,455
LI LUSHSAHUIA X
293,028,000 293,028
= 205,120
= 43,954
Al 43,954
ZES LEZML LAHIA H2ISX 98,692 98,692 0
= 29,608
Al 69,084
307 @120l & 98,692 98,692 0
== 29,608
Al 69,084
11 NS =AY ST 98,692 98,692 0
OXEZ LLTO WAHIA B2 X
& 98,692,000 98,692
= 29,608
Al 69,084
ZEs €230 F=2088 111 N 169,330 0 159,330
= 111,531
= 14,339
Al 33,460
308 AHXIEMSOIH 159,330 0 159,330
= 111,531
[ 14,339
Al 33,460
183 SV 2SS & HAET AL 159,330 0 159,330
Ozss L0l =208 111 XNE
159,330,000 169,330
= 111,531
== 14,339
Al 33,460
LEIHR F2aE X 3,840 1,920 1,920
= 2,688
== 576
Al 576
308 AHXIHMSO0IA 3,840 1,920 1,920
= 2,688
= 576
Al 576




2A:

3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
18 SI[2S0tet 4 A AS A 3,840 1,920 1,920
oIl 2D XL
3,840,000& 3,840
= 2,688
== 576
Al 576
ZONQ KHE XA 21,000 21,000 0
= 6,100
Al 14,900
307 gl2to| & 21,000 21,000 0
= 6,100
Al 14,900
11 AMISXAIEEX 21,000 21,000 0
OAIZEOMS! JI=MHE w=s
5,000,000& 5,000
< 2,500
Al 2,500
OFOfEA Wat|2t Zpsn 29 N
12,000,000 12,000
= 3,600
Al 8,400
OO0t =0 W& XI& 4,000,000 4,000
Ze SXAE2EX 256,101 262,375 N6, 274
& 76,830
Al 179,271
307 glztol & 256,101 262,375 N6,274
= 76,830
Al 179,271
10 Al SXAAEEHE 22X 256,101 262,375 N6,274
OZOAANFAIE ORAZERN =& X2
6,501,000& 6,501
=S 1,950
Al 4,551
OHUMASKAIE SAL =& X2
137,800,000 137,800
= 41,340
Al 96,460
OHMANBMEAL SAHL =& XI&H
33,800,000 33,800
=S 10,140
Al 23,660
OFMHA=SX2t SALAF =& X
78,000,000 78,000
== 23,400
Al 54,600




2A:

3 ZOHA=SA ST (ARSA/HLAHSKI)

Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Fofelsssi 2EX 1,706,978 1,609,359 97,619

= 42,000
Al 1,664,978
307 el2to| & 1,706,978 1,609,359 97,619
= 42,000
Al 1,664,978
05 212t =S 1,706,978 1,609,359 97,619
o¥ieIsE=A2 2
1,706,978,000& 1,706,978
== 42,000
Al 1,664,978
ZOHRIAFAIE 2SR 1,3%4,320 1,344,328 49,992
= 976,024
== 125,489
Al 292,807
307 212+01& 1,3%4,320 1,344,328 49,992
= 976,024
S 125,489
Al 292,807
e NEEEEETEES 1,394,320 1,344,328 49,99
OTUHANFAL 2HX
1,394,320,000& 1,394,320
= 976,024
S 125,489
Al 292,807
o ssdHENE 2SN 17,726 86,544 31,182
307 212+01& 17,726 86,544 31,182
10 Al2ISTIAIEEE 22X 17,726 86,544 31,182
OAMESI HoHe SS8EIHE 2¢
59,858,470 59,859
odg=ssc| 57,866,210& 57,867
JOHAXMSIHEAE 28 K& 754,665 721,380 33,285
= 17,140
Al 737,525
307 @12t01 & 754,665 721,380 33,285
== 17,140
Al 737,525
05 2ItRIE = 463,133 441,613 21,520
OAMEAIZMAESHAY 2T
463,133,000 463,133
= 8,570
Al 454,563
10 Al SAAEEHE 22X 291,632 219,767 11,765




SN OIFORQI D
M ZOI=SX ST(ASSX/HAAHSKH)
Rl ZoHI=XSH (SH9 H2)
A - BB C9(B) - MRAY - BES ol &k G o HlmS2
ONZEENULSHAT =
291,532,000& 291,532
& 8,570
Al 282,962
Hoel=2tESAld 29 K& 802,000 752,300 49,700
= 79,470
Al 722,530
307 2I2+01™ 802,000 752,300 49,700
= 79,470
Al 722,530
10 Al ZXAIEHE 2FHIEx 802,000 752,300 49,700
OZOQ FESHEH 23
690,000,000& 690,000
& 54,000
Al 636,000
OAIZEOQ FALSHE 2
112,000,000& 112,000
= 25,470
Al 86,530
THSGHH 29X 148,550 138,200 10,350
& 5,130
Al 143,420
307 QI2tol A 148,550 138,200 10,350
& 5,130
Al 143,420
10 AlRISXAIEEHE 22X 148,550 138,200 10,350
O==0SgdH 29 148,550,000& 148,550
= 5,130
Al 143,420
ZOHQl MEO|SKIZMEH 2D 123,016 117,359 5,657
= 6,120
Al 116,8%6
307 QI2H0| A 123,016 117,359 5,657
& 6,120
Al 116,8%6
10 Al SXAEHE2EHIEX 123,016 117,359 5,657
OO MEOISKAEEH 2
123,016,000& 123,016
= 6,120
Al 116,8%6
ZOHQIAIS M X 2IME XIR 191,000 181,000 10,000
= 57,300
Al 133,700
307 QI2HO| A 191,000 181,000 10,000




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 57,300
Al 133,700
10 Al SXAEEHE2EHI2x 191,000 181,000 10,000
OB AR YLRAME 2%
191,000,000& 191,000
= 57,300
Al 133,700
ZOHUE S| =X2HH 2 X 64,000 113,000 249,000
== 12,800
Al 51,200
307 212+01& 64,000 113,000 49,000
< 12,800
Al 51,200
10 Al2IS XA EEE 22X 64,000 63,000 1,000
OROIBAZTI ST AHE 2
64,000,000& 64,000
= 12,800
Al 51,200
ZOHRIIEXZNE 28 K& 106,000 106,000 0
== 31,800
Al 74,200
307 212+01™ 106,000 106,000 0
[ 31,800
Al 74,200
11 AMEISXAEEES 106,000 106,000 0
OZ IS HHE 29
106,000,000 106,000
= 31,800
Al 74,200
ZOHRIAICH Atcll2el XI& 84,000 84,000 0
s 25,200
Al 58,800
307 @I2t01 & 84,000 84,000 0
[ 25,200
Al 58,800
11 AMEISXAEEES 84,000 84,000 0
OZOHQIAICH Ateil2tel XI&
84,000,000 84,000
= 25,200
Al 58,800
HEZ0e wsX 26,412 27,913 21,501
= 18,488
= 2,377
Al 5,547




2A:

3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 26,412 27,913 21,501
= 18,488
== 2,377
Al 5,547
11 AMEISXAEEES 26,412 27,913 A1,501
O0&Ee W2 26,412,000 26,412
= 18,488
=S 2,377
Al 5,547
K& Jisdst 3,000 4,000 21,000
< 1,500
Al 1,500
307 glztol & 3,000 4,000 21,000
= 1,500
Al 1,500
11 AMEISXAIEEXS 3,000 4,000 1,000
ONdHML Jlsess W
3,000,000 3,000
=S 1,500
Al 1,500
Mg &oel sdtglE A 3,600 2,000 1,600
= 2,520
= 324
Al 756
301 Eet2 NS 3,600 2,000 1,600
= 2,520
= 324
Al 756
01 Al EE AT S (2 RDEEMRA) 3,600 2,000 1,600
O gLl EMHISAA
3,600,000& 3,600
= 2,520
= 324
Al 756
ZOHRIXI 2 275,29 306,049 A30,750
201 ger=3| 21,400 21,000 400
01 At 2|l 11,800 11,000 800
O SN S2= S MH
3,800,000 3,800
OZMASXAY doj=&
7,000,000& 7,000
Ol ASIH HAI F&
1,000,000& 1,000
02 s3=gHl 9,600 10,000 A400




HOI= Xl S (ASIZXI/HAHEXI)
TIEESS

Za - 29(8) - HRAR - BaS of v G o HIDE2
Ol SXNSAUa M2 It
2,400,000& 2,400
OF0fQ! =0l SS 95 HSBXI|D| O
28 & 7,200,000& 7,200
301 22N = 16,100 23,400 AT7,300
11 AALREIXIES 16,100 21,400 25,300
O&= H+-H0H HESe0tY HIHA &
BIXI& 800,000& 800
O Vst B4 XN
1,100,000 1,100
Ol esZEA(E) AL I
600,000& 600
O&= =013l 44X AKX
1,500,000 1,500
OFZ SOIIHSHE FHX MUK
1,100,000& 1,100
OFUOISTINL SN 9I2E HAT o
BIXI& 1,200,000 1,200
O&= XXM & SHAEAI AHIX
& 1,400,000 1,400
O0HeHY HEsls X AHIXE
1,300,000 1,300
OZOfsta Hglisty) IHASAH IR Al
A& 6,000,000& 6,000
Oozd4Y XIMZoHe! eotsStal IR+ Al
A& 1,100,000 1,100
307 elzto| & 237,79 235,649 2,180
03 2RI HEE=2SHIEx 50,400 56,000 25,600
OHOHIH 234l X&H
50,400,000 50,400
04 QIZHHAMAIH 2 £ 8,000 0 8,000
OAIZE! AtelXSEH XI&
4,000,000 4,000
OMEASSUS0I A X1
4,000,000& 4,000
05 212t =S 119,549 113,149 6,400
OEMOEAl 28 X2 119,549,000 119,549
11 AMISXAIEEX 59,850 66,500 26,650
O SXS&U= X
31,500,000 31,500
oFofelel & Rte At 4,050,000 4,050
OHots SASdU= XA
3,600,000& 3,600
OFHe! MO =cl At
20,700,000& 20,700
HelRtel X (ML ML Xt2l) 946,286 767,006 179,280
= 473,143




SN OIFORQI D
3 ZOHA=SA ST (ARSA/HLAHSKI)
Rl ZoHI=XSH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 141,943
Al 331,200
101 @124H| 946,286 767,006 179,280
= 473,143
== 141,943
Al 331,200
M ORINZZ2NSE S 946,286 767,006 179,280
OFOHQ! MM LAt K&
946,286,000 946,286
= 473,143
== 141,943
Al 331,200
ZOHQI L Rl XI& (AR Xtel) 295,738 289,666 6,072
= 147,869
== 44,361
Al 103,508
101 e124d| 295,738 289,666 6,072
= 147,869
= 44,361
Al 103,508
04 JIZtN2Z2 XS 295,738 289,666 6,072
OFOHO! AIZHH 2Xt2| X2
295,738,000 295,738
= 147,869
= 44,361
Al 103,508
ZOoHId Kl XI& (SXILX2l) 476,814 399,264 77,550
= 238,407
= 71,622
Al 166,885
307 gl2tol & 476,814 399,264 77,550
= 238,407
= 71,522
Al 166,885
05 2I2tRIE S 476,814 399,264 77,550
OZe SXILXtel X
476,814,000 476,814
= 238,407
= 71,522
Al 166,885
LR LYESA EXY XL 93,200 91,254 1,946
= 46,600
== 13,980
Al 32,620




A R==t P10 ReTi
X

3 ZOHA=SA ST (ARSA/HLAHSKI)
el ZoHeIsXsd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
307 lztol & 93,200 91,254 1,946
= 46,600
== 13,980
Al 32,620
05 2ItRIE = 93,200 91,254 1,946
OZL I QLESAF 2R el
93,200,000 93,200
= 46,600
== 13,980
Al 32,620
ZISES SEIHEHS AMHIA K& 3,000 0 3,000
201 er23| 3,000 3,000
02 S5=2g4l 3,000 3,000
OZMAUEE SEMNEHSMEIA X
3,000,000& 3,000
WeES( L) (ASISXI/ =l ) 423,600 410,769 12,831
SHAHXE 423,600 410,769 12,831
WERHeHXIE 423,600 410,769 12,831
R I1sdES 423,600 410,769 12,831
UIPIETSE— 423,600 410,769 12,831
OL=XDI=s dE= 423,600,000 423,600
A2 ZHI(L=AZHOHI ) (DIEHIIEL) 50,280 61,800 A11,520
=34l 50,280 61,800 A11,520
JI23Hl 50,280 61,800 A11,520
201 et 3| 9,600 12,000 A2,400
01 At2t2l] 4,800 6,000 21,200
oggt=ZH] 4,800,000 4,800
2 S5=24g4l 4,800 6,000 21,200
0882= £ HA 4,800,000 4,800
202 04l 36,480 45,600 29,120
01 =LHOHI 36,480 45,600 N9,120
OZUHEHNH 36,480,000 36,480
203 =8| 4,200 4,200
M FAZSHIFII 4,200 4,200
ORMEIE = 350,000& * 128 4,200




